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Indian Geography and Environment

TEST PAPER- 4

Consider the following statements with respect

to India:

1. Actual distance measured from the north to
south extremity of India is 32144 km.

2. Standard Meridian passes through 82°30' E
longitude.

Which of the above Statement(s) is/are Correct?

(a) 1 only

(b) 2 only

(c) Both 1and2

(d) Neither 1 nor 2

Consider the following Statements:

1. Kashmir Himalayas are famous for Karewa
formations and the Cultivation of Zafran.

2. Bugyals are winter grasslands in the higher
reaches of the Himalayas.

3. Dun formations are a prominent feature in the
Northern Himalayas.

Which of the above statement(s) is/are Correct?

(a) 1and 2 only

(b) 2 and 3 only

(c) 1and 3 only

(d 1,2and 3

‘Which of the following state is Known as the
Molasses basin?

(a) Nagaland

(b) Manipur

(c) Mizoram

(d) Tripura

Consider the following statement/s with respect

to the Northern plains:

1. Bhabar is a narrow belt where rivers and
streams deposit heavy materials of rock and at
times disappear in this zone.

2. South of the Tarai belt is an alluvial belt
consisting of old and new alluvial deposits
known as khadar and bhangar respectively.

3. Sand bars, meanders, oxbow lakes and
braided channels are the characteristic
features of the Northern plains.

‘Which of the above statements is/are correct?

(a) 1and 2 only

(b) 1and 3 only

(¢c) 2and 3 only

(d) 1,2and 3

Consider the following statements:

1. Rajmahal hills in the east and cardamom hills
in the South constitute the outer extent of the
Peninsular plateau.

2. Doddabetta hills on the Nilgiri hills is the
highest peak of the peninsular plateau.

3. The Bhima fault is important because of its
recurrent seismic activities.

Which of the above statement(s) is/are Correct?

(a) 1and 3 only

(b) 2 only

(c) 3 only

Q6.

Q7.

QS.

(d) 1,2and 3

Consider the following statements:

1. The Western Ghats and the Eastern Ghats
meet at Nilgiri hills.

2. Kunchikal waterfall is the highest waterfall in
India.

3. The famous Sabarimala temple is situated in
the Periyar tiger reserve through which the
pamba river passes.

Which of the above statement(s) is/are Correct?

(a) 1and 2 only

(b) 2 and 3 only

(¢) 1and 3 only

(d) 1,2and 3

Consider the following statements with respect

to the Northeastern plateau:

1. Meghalaya plateau despite being an extension
of the Main peninsular plateau is devoid of
mineral resources like uranium, iron ore, coal
etc.

2. As the Northeastern plateau area receives
maximum rainfall from the South West
monsoon, the Meghalaya plateau has a highly
eroded Surface.

Which of the above Statement(s) is/are Correct?

() 1 only

(b) 2 only

(c) Both1and2

(d) None of the above

Consider the following statements with respect

to the Indian Desert:

1. In the Thar region, the shifting sand dunes are
locally known as Dhaya.

2. Thar desert is a monsoon-driven desert where
wind erosion is a major problem during
summer.

3. Thar desert spread across the states of
Rajasthan, Gujarat, Punjab and Haryana.

Which of the above statement(s) is/are Correct?

(a) 1and 2 only

(b) 1and 3 only

(¢) 2 and 3 only

(d) All of the above
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Q9.

Q10.

Qll.

QI12.

Q13.

Consider the following statements with respect

to Coastal plains:

1. Western coastal plains are examples of
Submerged coastal plains whereas Eastern
coastal plains are examples of emergent
coastal plains.

2. Western coastal plains are broader in the
middle and narrow in the North and south
whereas Eastern coastal plains are overall
broader in general compared to western
coastal plains.

3. ’Kayals' are the distinguished features of the
Malabar coast.

Which of the above statement(s) is/are Incorrect?

(a) 1and 3 only

(b) 2 only

(c) 3 only

(d) 1,2and 3

Consider the following Statement:

1. Baratang Island is the only known example of
a mud volcano in India, called locally “jalki”.

2. Neil Island has been named Netaji Subhash
Chandra Bose island recently.

‘Which of the above Statement(s) is/are Correct?

(a) 1only

(b) 2 only

(c) Both 1and2

(d) None of the above

With reference to Tropic of Cancer, Consider the

following statements:

1. The Tropic of Cancer passes through the
central part of India in east-west direction.

2. The region of Tropic of Cancer experiences
extreme climate with high daily and annual
range of temperature.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 2 only

(c) Both 1and2

(d) Neither 1 Nor 2

Consider the following pairs:

Biosphere Reserve States/UT

1. Pachmarhi Chhattisgarh

2. Seshachalam Andhra Pradesh
3. Similipal Odisha

Which of the pairs given above is/ are correctly
matched?

a) 1and 2 only

b) 2 and 3 only

c) 2only

d) 1,2and3

Which of the following factors determine the
climate of India:

1. Distribution of air pressure and winds

2. Distance from the Sea

3. Physiography or relief of India

4. The inflow of western cyclones

Ql14.

Q15.

Q16.

Q17.

Select the correct option using the code given
below.

(a) 1and 3 only

(b) 2,3 and 4 only

(¢) 1,2 and 4 only

(d 1,2,3and 4

With reference to Biosphere Reserve, consider

the following statements:

1. It is a unique and representative ecosystem of
terrestrial and coastal areas which are
internationally = recognised  within  the
framework of UNESCOQO’s Man and Biosphere
(MAB) Programme.

2. India is a signatory to the landscape approach
supported by the MAB programme.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 Nor 2

Consider the following features:

1. There is no definite time for trees to shed their
leaves

2. They are found in warm and humid areas

3. Species found in these forests include
rosewood, mahogany and ebony.

The above mentioned features defines which types

of forest?

(a) Montane forests

(b) Tropical Evergreen and Semi
Forests

(c) Tropical Thorn forests

(d) Littoral and Swamp forests

Evergreen

Which among the following factors affects the
formation of soil:

1. Parent material

2. Vegetation

3. Life-forms and time

4. Soil texture

Select the correct answer using the code given
below.

(a) 1and 3 only

(b) 2 and 4 only

() 1,2 and 3 only

(d 1,2,3and 4

Consider the following statements with reference

to Laterite Soil:

1. The soil has high humus content.

2. Itis deficient in iron oxide and potash.

3. The soils develops in areas with high
temperature and high rainfall.

Which of the statements given above is/are

Incorrect?

(a) 1and 2 only

(b) 2 only

(¢) 2 and 3 only

(d 1,2and 3
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10.

11.

12.

13.
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QI8.

Q19.

Q20.

Q21.

Q22.

Consider the following features:

1. The soil is rich in potash but poor in
phosphorus.

2. The soils are loamy and clayey in the lower
and middle Ganga Plains.

3. These are depositional soils.

The above mentioned features is the description for

which of the following type of soils?

a) Yellow soils

b) Black soils

¢) Alluvial soils

d) Laterite soils

Which one of the following forest is the most

widespread in India?

(a) Tropical Thorn Forests

(b) Tropical Deciduous Forests

(c) Montane Forests

(d) Tropical Evergreen and Semi
Forests

Evergreen

Consider the following statements with reference

to Inter Tropical Convergence Zone (ITCZ):

1. It is the region that circles the Earth, near the
equator, where the trade winds of the
Northern and Southern Hemispheres come
together.

2. The latent heat released in the ITCZ is critical
to the atmospheric energy budget.

Which of the statements given above is/are

correct?

(a) 1only

(b) 2 only

(c) Both 1and2

(d) Neither 1 Nor 2

Consider the following statements with respect

to the Crop Seasons in India :

1. Inthe Rabiseason, Wheat and Barley are sown
in June and harvested in the months of
October.

2. Inthe Kharif season, Rice and Maize are sown
in October and harvested in the months of
June.

3. Zaid is the harvest season between the Kharif
and Rabi in the months of November and
December.

‘Which of the above statements is /are not correct?

(a) 1 only

(b) 2 only

(c) 1and 2 only

(d) 1,2and 3

Consider the following statements with respect

to the Agro Climatic Zones in India

1. In the Eastern Himalaya region More than
50% of the cultivation is done using Shifting
Cultivation.

2. Inthe Islands Region nearly Half of the area is
under coconut plantations.

3. Canals are the principal source of irrigation in
the Gangetic plains.

Which of the above statements is /are correct?

Q23.

Q24.

Q25.

(a) 1and 3 only
(b) 1and 2 only
(c) 2and 3 only
(d) 1,2and 3

Consider the following statements with respect

to the Cropping patterns and systems:

1. In Mixed cropping Main crops and intercrops
are sown in definite row arrangements, unlike
Intercropping.

2. In Inter cropping sowing time of the main and
intercrops may not be the same, unlike the
mixed cropping.

3. Mixed farming involves growing crops and
raising livestock.

Which of the above statements is /are correct?

(a) 2 and 3 only

(b) 1and 2 only

(¢) 1and 3 only

(d) 1,2and 3

Consider the about

Livestock :

1) Livestock contribution in India to total
agriculture GVA (at constant prices) has
increased in between 2014-15 & 2020-21.

2) India ranks first in milk & Egg production in
the world

Which of the statements given above is/are

correct?

(@) 1 Only

(b) 2 Only

(c) Both 1 and 2

(d) Neither 1 nor 2

following statements

With reference to Livestock Census, consider the

following statements:

1. Livestock Census is conducted quinquennially
(at five-year intervals)

2. The first Livestock Census was conducted
in 1970-71

3. As per the 20th Livestock Census report,
the total indigenous cattle population has
improved compared to the previous census.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 2 only

(¢) 1and 3 only

(d) 1,2and 3
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18.

19.

20.

21.

22.
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23.
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Q26.

Q27.

Q28.

Q29.

Q 30.

Consider the following statements, with respect

to Lumpy skin disease(LSD):

1. LSD is a bacterial disease caused by various
Brucella species.

2. LSD noted a 100% mortality rate.

3. There is no transmission to humans in LSD.

4. Recently, DCGI approved Anocovax
Vaccine to prevent Lumpy skin disease
among Cattle.

Which of the statements given above is/are

correct?

(@) 1 and 2 only

(b) 2 only

(c) 3 only

(d) 3 and 4 only

Consider the following statements with respect

to Green Revolution

1. Norman Borlaug was primarily in charge of
the Green Revolution in India, which took
place between 1967-1968 and 1977-1978,
transforming India from a food-insecure
nation to an independent nation.

2. The main crops in the revolution were Wheat,
Rice, Jowar, Bajra, and Maize along with
non-food crops like Jute and Cotton.

Which of the statements given above is/are

incorrect?

(a) 1only

(b) 2 only

(c) Both 1and2

(d) Neither 1 nor 2

Consider the following statements with respect

to Irrigation in India.

1. In areas with deep fertile soils, a permanent
supply of water, a large command area, and
low-level relief, tubewells can be a useful
source of irrigation.

2. KULHS is the ancient water harvesting
system in Himachal Pradesh.

Which of the statements given above is /are

correct?

() 1 only

(b) 2 only

(c) Both 1and2

(d) Neither 1 nor 2

Consider the following statements regarding

Multipurpose Projects in India:

1. Nagarjuna Sagar dam is the world's longest
earthen dam in the world.

2. Hirakud dam is the world's largest masonry
dam.

‘Which of the following statements is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1and2

(d) Neither 1 nor 2

Water is applied near the plant root through
emitters or drippers on or below the soil surface at
a low rate varying from 2 to 20 litres per hour.

Among all irrigation methods, this is the most
efficient and can be practiced for a large variety of
crops and also reduces leaching, which of the
following types of irrigation is described above?

(a) Furrow irrigation

(b) Sprinkler irrigation

(c) Drip irrigation

(d) Sub-irrigation

Q31. Consider the following statements with respect to

Q32.

Q33.

Ecotone :

1. Ecotone is a zone of tension as it has the
conditions intermediate to the adjacent
ecosystems.

2. An ecotone which is well-developed may
contain some organisms which are entirely
different from that of the adjoining
communities.

3. In Ecotone, Edge species become abundant.

Which of the above statements is/are Correct?

(a) 1and2 Only

(b) 2 and 3 Only

(¢) 1and 3 Only

(d) 1,2and 3

Consider the following statements :

1. There are three types of the ecological
pyramid, mainly the pyramid of Biomass, the
pyramid of Energy and the pyramid of
Number.

2. Pyramid of Energy is always upright but the
Pyramid of Biomass and Number can be
upright or inverted also.

Which of the above statement/s is /are Correct?

(a) 1Only

(b) 2 Only

(c) Both 1and2

(d) None of the above

Consider the following Statements:

1. Biogeochemical cycling also called Nutrient
Cycling of two types gaseous and
sedimentary.

2. The amount of nutrients, such as carbon,
nitrogen, phosphorus, calcium, etc., present in
the soil at any given time, is referred to as the
standing state.

3. In Nitrogen Cycling, Ammonification is the
process of conversion of ammonia into
organic nitrate.

Which of the above statements is/are Correct?

(a) 1and 2 Only

(b) 2 and 3 Only

(¢) 1and 3 Only

(d) All of the above
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26.

27.

28.

29.

30.

T = A (Taegs!) & g9y § Refafaa syt

R fTaR &

1. gaqge fAfva gaer gaifaal & &R g+ arer
Qe Siaro] 3 81

2. UARHE A 100% T & Pl oo fona |

3. UeIQHEt A Hgsal & fory shig deror T 81

4. g 8 ® DCGI 3 7afdt & #fda @@= A7 &t
Aehrt o foTg GATenTderT aarft= ot wHedt &1 81

IR T 70wt A § B T/ 98 2/82

a) 31??1’1 3R 2

(a
(b)
() aw—chfr3

(d) et 3 3R 4

gRka whifd & Fey & Ffafea ol iR foar &

1. A IRAN 8 ¥ 9 9Rd J R shifd & TRt
g, St 1967-1968 3R 1977-1978 & = gs,
S YR @l Teh @rer-SrRRfad g 9 Uk Wi
Y # Jeo fear!

2. whifd # =7 ®Ed g, Mad, SOR, doRT 3R
HIhT S TTY SI¢ TR hu SIdT R-ETel el i |

IR & U Al F @ 9 91/8 TeId g/ ?

(a) charet 1

(b) et 2

(c) haet 1 3R 2

(d) 7at1sRa82

IR & s & ey 8 Fefafed sy &R iR &R
1. T IuSTs: A aret &= & it Y e wumt
Tty TS ol gen IuAT Hid gt Fehd &l
2. Fog GAmEa Wy # URF S S99 Tl

gl
IR foU U YAl § T w9-T1/T I8t /87
(a) dae 1
(b) haet 2
(c) haer 1 3R 2
(d) 7at1sRa82

WRd # FgIeita uRarsHre & &y # FAmfafad

HY IR TR e

1. AN 9FR giY g1 &1 Gad o g o aig
H

2. BRI JiY fay o1 qa a1 DTS arer iy g1
ffefEa o & oF u1/3 &= 9l 8/8?

(a) dae 1

(b) et 2

(c) 18fR2aHt

(d) Fat1eRad2

gt Y Iag W a1 = gfier a1 fgusd & dremw @ aig

FI 518 & g 2 T 20 e ufd 62 &Y @R T g} e
ST g1 g+t Ri=rg fafdai 7 9, ag 999 Ferat g 8k

31.

32.

33.

el hl Ueh go fafaerar & forg sTent sramg o i

gahdT g 3R iR ot oft ovw o &, R=fafea g @

foha ueR i &g o1 gofa JwR fobar mar &2

(a) s =g (aree fE=ms)

(b) wearr =g

(c) feu &=ms

(d) 3u R

gohlcH & de¢ § fAEfaf@d syl = far &1

1. RIS dFG (HehHUT) T Ueh & ¢ ifh sqd
3MY-UuTg & uTRfAfdes a1l o forg gegedt fafaar
gl

2. U ShIcH St guld: avg & faefia giar g a9
F© U9 ST gl Tohd & Sit ST9-U & IHer™l O
) a%E 9 31l Bl

3. Zople # U TSIl Uk AT # g1 St 8l

IR & § i 1/ HYU ol /87

(@) 1 3R 2 dhad

(b) 2 3R 3 thad

(c) 1 3R 3 dhad

(d) 1,23k 3

fFafafaa sy &R farR &2

1. IR fRifis S usR H 8ld &, g & U @
T ohl ORI, Shotf ot RIS ofik d=r an
RS

2. ol ol fOxifAs gaem diem giar @ dfe Saur
3R Tze ot forifare e ar et oft gt Tepar 81
ST # ¥ i 1/ &Y 9gt 8/8?

(a) a1

(b) a2

(c) 1 3R 2

(d) T8 T opis oft 7&F

fA=fofEa syl &R faaR &2

1. Sl Y-JAEFAE Fhul ol & TR & T 3R
JTTET TTeeh Tehul oY shgl SITdT 8

2. forelt oft oo AS F Aige @Eq, AEgeH,
BIThRY, ek 3fe Wives dal &t T @t
T IGRAT gl STl g

3. TSI ThUT H, STHITERUT, AT hl Shsl-ch
q15¢e & geal- ol Ufchar g1

IR | 9 i 1/ Y- ol /87

(@) 1 3R 2 thad

(b) 2 3R 3 thad

(c) 1 3R 3 dhad

(d) IWR & Teft
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Q34. With reference to Eutrophication, Consider the

following statements:

1. Itis a phenomenon of Nutrient enrichment in
the water body.

2. It creates a hypoxic condition in the water
body.

‘Which of the above statement/s is/are Correct?

(a) 1Only

(b) 2 Only

(c) Both 1and2

(d) None of the above

. Which of the below-mentioned pollutants are
Primary Pollutants?

Carbon Monoxide

Oxides of Nitrates

Volatile organic compounds

Photochemical Smog

Ozone at ground level

. Lead

Choose the correct answer using the code given
below:

(a) 1,2,3,4,5,6

(b) 1,2,4,5,6 Only

(o) 1,2,3,6 Only

(d) 2,3,4,6 Only

O W

. Consider the following statements:

1. Factories and sewage treatment plants are
examples of non-point sources of water
pollution.

2. Itai Itai is a condition caused by cadmium
contamination.

Which of the above statement(s) is/are Incorrect?

() 1Only

(b) 2 Only

(c) Both 1and?2

(d) None of the above

. Consider the following statements:

1. Bioventing is an in-situ remediation
technology that uses indigenous
microorganisms to biodegrade organic

constituents adsorbed to soils in the
unsaturated zone.

2. Bioaugmentation is an ex-situ biochemical
processing system that utilizes microbes to
remove contaminants from wastewater or
pumped groundwater, as well as the solid and
liquid (slurry) stages of contaminated soil.

3. Biosparaging is injecting pressurized air or gas
into a contaminated zone in order to
stimulate in situ aerobic biological activity.

Which of the above statements is/ are correct?

(a) 1and 2 only

(b) 1 and 3 only

(¢) 2and 3 only

(d 1,2and 3

Q38.

Q39.

Q40.

Q41.

Consider the following statements:

1. The Environmental Impact Assessment in
general is used as a tool for risk assessment in
the environment.

2. The outcomes of this procedure might be
presented in either a quantitative or
qualitative way.

Which of the statement(s) given above is/are

correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

‘Which Country is not a mega-diverse country?
(a) Ecuador

(b) India

(c¢) South Africa

(d) Canada

Consider the following statements with respect

to types of diversity:

1. Alpha diversity is a measurement of the
overall diversity across a large geographic
region.

2. Beta diversity is the diversity between
ecosystems by measuring the species change
between ecosystems

3. Gamma diversity is the diversity of a
particular area or an ecosystem, usually by
expressing the species richness or the number
of species.

‘Which of the above statement/s is/are Correct?

(2) 1and 3 only

(b) 2 only

(c) 1only

(d 1,2and 3

Consider the following statements:

1. Wildlife(Protection) Act, 1972 prohibits the
hunting of any wild animal specified in
Schedules I, II, III and IV of the act.

2. Tiger Reserves are notified by State
Governments as per provisions of the
Wildlife(Protection) Act, 1972 on the advice of
the National Tiger Conservation Authority.

3. National Tiger Conservation Authority
(NTCA) is a statutory body under the Ministry
of Environment, Forests and Climate Change
constituted under enabling provisions of the
Environmental Protection Act-1986

Which of the statements given above is/are

correct?

(a) 1and 2 only

(b) 2 only

(c) 1and 3 only

(d) 3 only
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34.

35.

36.

37.

guiwor & deof 7 Fefafed syl o iR &
1. g ST [Hepra & ulves dcg daeq & ger g1
2. g8 Sid R # ga greuiferta fRATA s g1
SR & g i I1/3 Y Tg! /87

(a) Fad 1

(b) a2

(c) 13R2aHA

(d) 318 @ S ofr 7

R Ry 1Y vewen! & @ @i @ urufies vgye 87
I THISTTTSS
I8y & STFATES

areasfier srefAes difirent

RIS IR g4
STHI TR WR ST

.

2 37 77T g 1 v R HE ST gAY
(a) 1,2,3,4,5,6

(b) &aer 1,2,4,5,6

(c) ¥as1,2,3,6

(d) Fa<t2,3,4,6

ok WwWN=

AT syl = foaR &

1. BPREM R s IUAR TIF STel UGHUT & TR~
feig &1d & 3IaTeRT &

2. 3IT8 313 hefaH TGHUT & hRRUT g areit fRAfd
gl

I J § i I1/9 Y ToAd 8/a?

(a) had 1

(b) Fad 2

(c) 13R2gHl

(d) 378 T A1 off A&

fAafafaa syl ) faR &2

1. dERT U WM IUARIHG deheilch § Sil
q & | g A sraenf¥a s geen at
Irifeds A & fog weft gemsial s IuahT
CaGiN]

2. SIEORITHIM U @M dihfed WAk
oreew & <t gfta g & 319 ofR Rt () ==om
& Y-y HURAE Tl a1 Uy fhy 1Y oot 4
AT ueraf @l gem & forg Imugsit @ IuahT
FHRAT I

3. ARG wom ®ifve Sfde afafafa @
TicaTied e o folq GaTd arell gar a7 14 i Uoh
gt &1 3 gt R 3ET B

SWRiad | Y i I91/3 Y- gl /87

(@) 1 3R 2 dhaa

(b) a1 3R 3

(c) 2 3R 3 FHad

(d) 1,23R3

38.

39.

40.

41.

fAfafEa syl &R faaR &2

1. yafeRuftg U9Ta 3iTeher™ T ITHTT U § GIER0T
# Sifes gegice & folg T IUe0T & U |
I feRaT STraT g

2. 39 ufehar & aRUITHT il ATEHS AT [OMHS dich
Y ugd fonar 11 Genar 81

IWR f&U U Al & T i T1/T TGt /87

(a) &haet 1

(b) haet 2

(c) 1 3R 2=

(d) 7at1eRT&2

I TT 2 AIT-ST8a 287 T8 87

(a) FFSR

(b) WRd

(c) aferor arhiepr

(d) epATST

fafaerar & yeR & gay & AefifEa dua R far

e

1. 31t fAfqerdT ue a8 wiimiferr & & guu RAfgerdar
T AT g1

2. dter Rfqgar oRfRfds & & o uonfaat &
gRad= ol AT & gRT uiRfRAfds 9 & g 6
fafaerar @

3. T fafaerdr gas fasiy & a1 ua aiRfEfaeat &
<t fafaerdr 8, St smAdR W yenfaal i aqfg ar
Tt eht Tt ol egaT el g1

SRR # 9§ i 1/ &Y 9gt 8/8?

(a) dad 1 3R 3

(b) a2

(c) haat 1

(d) 1,233

fAafafaa sy &R faarR &2

1. ggoig (TRewn) Sifdfagw, 1972 sifafaay &t
Sgdr 1, 11, 11 ofiR IV & fAfée fopeht oft Sivrett
SR & PR W Ak a8

2. IE 9g R UIfARR0T h Tellg W a=isig
(TReron) srfafgH, 1972 & Urayi o SaR 919
SWIRUYT ohl AT TRepRI gRI AAfgfa forar
STTaT 81

3. IER STg TRE0T UIf]oT (THERY) HATer &
Jed U dutfHes R g

4. UgfaRur TReTor SIfAaH-1986 o & UIae i &
dgd TiSd Tatervl, 99 3R STerar] gikad=

FIWR 2y 7T sl F T i T1/3 TEt §/8?

(a) daar 132

(b) a2

(c) haer 1R 3

(d) &haet 3
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Q42.

Q43.

Q.

Q45.

Q46.

This Wildlife sanctuary was the world's only
protected area dedicated to freshwater turtles. It
was set up in 1989 under the Ganga action plan. In
order to check the biological pollution and to make
River Ganges free of pollutants, Ganga Action
Plan (GAP) Phase I, has started in the year 1986 by
the Govt. of India, with a turtle breeding project.
Turtles, the Ganges dolphin and other water
animals can be found in this Wildlife Sanctuary.
The above-mentioned passage refers to which of
the following Wildlife Sanctuary?

(a) Kachhua Wildlife Sanctuary

(b) Sri Lankamalleswara Wildlife Sanctuary

(¢) Gautam Buddha Wildlife Sanctuary.

(d) Hastinapur Sanctuary

Consider the following pairs:
National Park State
1. Hemis National Park: Himachal Pradesh
2. Balpakram National Park: Mizoram
3. Govind Pashu Vihar National Park: Uttarakhand
4. Mudumalai National Park: Karnataka
How many pairs given above are correctly
matched?
(a) Only one pair
(b) Only two pairs
(c) Only three pairs
(d) All four pairs

Consider the following statements with respect

to the Ganges River Dolphin

1. The Ganges River Dolphin is the only river
dolphin inhabiting India

2. Male Ganges River dolphins are usually larger
than females.

3. Female Ganges River dolphins give birth once
a year to only one calf.

Which of the statements given above is/are

incorrect?

(a) 1and 2 only

(b) 2 only only

(¢) 1and 3 only

(d) 1,2and 3

Consider the following statements regarding

Invasive alien species of India

1) Water Hyacinth is referred to as the “Terror of
Bengal”

2) Eucalyptus which are introduced from
Australia are becoming a threat to Shola the
forests of the Nilgiri hills of Tamil Nadu.

Which of the statements given above is/are

incorrect?

(@) 1only

(b) 2 only

(c) Both 1and2

(d) Neither 1 nor 2

With reference to Biodiversity hotspots,

Consider the following Statements:

1. For a region to be qualified as a Biodiversity
hotspot, it must contain at least 70% of its
original habitat.

Q47.

Q48.

Q49.

Q50.

2. There are 2 biodiversity hotspots in India.
They are The Himalayas and The Western
Ghats.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor 2

Consider the following statements with respect

to ozone depletion:

1. Chlorofluorocarbons (CFCs) and Hydrochloro
carbons destroy the ozone.

2. Montreal protocol was adopted at the Rio
earth summit in 1992,

3. Ozone depletion is more pronounced in the
Axrctic than in any other place.

Which of the statements given above is/are

correct?

(a) 1and 2 only

(b) 1 only

(c) 2and 3 only

(d) 1,2and 3

Consider the following statements regarding the

Green House Gases:

1. Greenhouse effect is an artificial phenomenon
which keeps the earth warm.

2. Global warming potential for Perflurocarbons
is highest.

3. Lifetime of methane gas is higher for the
Methane than carbondioxide.

Which of the statements given above is/are

correct?

(a) 1and 2 only

(b) 2 and 3 only

(c) 1and 3 only

(d) None of the above is Correct.

Consider the about

GRIHA:

1) Acronym for GRIHA is "Green Rating for
Integrated Habitat Assessment”.

2) Itis developed by the Ministry of Housing and
Urban affairs.

Which of the statements given above is/are

correct?

(a) 1only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Consider the following statements about the

Carbon credits:

1. A company with carbon credit has the option
of emitting greenhouse gasses.

2. Carbon offset platform is developed by the
UNEP.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 2 only

(c) land2

(d) Neither 1 nor 2

following statements
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42. 9g TSiE IRUY HIS U & hgell ol gHfud 1. TP &F ol 9 fafderar giewie & U & I g
ST T TenATH TRIETT &1 7| Skl ®ImuAT 1989 # & forg, 3UH 37UR Hol ST ST HH I HH 70%
T QR WA oh dgd ohl 718 Y| Sifdes ugwor &6t Sifg g =nfgul
A SR T Tl UgueRl & Had A & g, T 2. WRd # 2 J9 RAfdeyar giewie g1 3 fgareg ek
TR W (GAP) TROT [, TR gRT a8 1986 H & gty a1e 1
fohaT AT 81 WRA Y, SRS TS IR o F1Y| IWR f&U U YAl § T i T1/T TGt /87
T gISia AMIRUG H hgQ, T Sifcth 3R 3 (a) haet 1 (b) e 2
WWWWW%I (c) 18R 2 et (dysat1siRag2
T T P S R A ST a7, s e ke 2 P o o e
’ 1. FEARIGARIpEA (Hewet) iR gEgiaciRt dE-
(a) e awasita SfsFarREa S T e A
(b) sficiart AeiaR a=Isiia AR . < .
2. Aifgad Uicialid st 1992 # Rat gedt AR
(c) Tt g TaSiIa AR | i &
(d) B TqR SrvaRTg METTEE .
3. forelt o0 wE fi ga T | archfean | Siieie
43. F=fafed g w feR fifsi: &RuT 31fdeh WE g
I Sa= I IR foU U FYAl & T i 1/ TGt /87
1. eff T e : femmaa mear (a) haet 1 3R 2
2. STAUShH AT Jeh : ey (b) &haet 1
3. Mfde ug) fer T I : REs (c) Fae2 33
4. GEHTS LT e : e (d) 1,293
ﬁgﬂ“@wwﬁ%m 48, i T el & ey A e e o R
a) g e 1. HHg8Y UHd Uk Hf3H g1 § St gedt il
(b) haet g S
(©) At A o2 LG
(d A TR SR 2. TRIRRIhIEH o folg meiterer arfH emar SeaaH gl
) : 3. e STETTES Y g & e & fg He
44. T <) SifAp & gay § AEfaf@a syl R R 719 &1 Sftaertet 31fdreh giar g
i IR U U Ryl | T i T1/3 T8t 8/8?
1. T 7 SR IRA § WA drell ThAR T (a) dhaer 13k 2
Sifeth § (b) eer 2 3R 3
2. TR ) SRR SMHTR R ATers 4 ds gid &l (c) haer13MR3
3. OIS T <) SifhT it # Ueh IR chdel Ueh 908 (d) Sudea & ¥ ig off Tt T&T 81
& ST &t B . . .
. . 49. g & IR # fFAfafed FuAl o foar @&
IR o U Al F @ i I91/8 Terd g/8? R
(a) daar 1R 2 Y
(b) et 2 2) gg 3IMary 3R A A & HATd gIRT fapfad
(c) haer 18R 3
(d) 1,2 83 fee o &1
' IR U U AT A G i 91/3 Tat /87
45. R & e faesft uemfaat & day & AeferiRaa (a) haet 1
HY TR AR #Y (b) heret 2
1) ST STeAcht st "SI T 3T hgl SiTdl & () 132
z)a@iﬁm@a@wuﬁﬁwaﬁmaﬁ (d) Fat1eRadr2
E‘;ﬁ"w* U T D IO G T | gy i e 3 AR A PR et e R
- . 1. 1A thise aTell dhusl & I MHgReT 4l &
(Ea??;qanfmwﬂ@ﬁqm/@w%/%? o Y
(b) e 2 2. EA TR wethid UNEP gRT fasfaa forar
(c) 18R 2+t Sl
IR Ry g et & § i a1/ 98 8/87
(d) Far1sRad2 (3) 3 1
46. Sig fafdyar giewic & deof § Refafaa syl w® (b) Faa2
foaR & (c) 13R2
(d) Fat1eRagr2
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Q5l.

Q52.

Q53.

Q54.

Consider the following statements with respect
to Particularly Vulnerable Tribal Groups
(PVTGS) in India :

1. The Dhebar Commission suggested creating a
new category with Scheduled Tribes as
"Primitive Tribal Group", later known as
PVTGs.

2. There are a total of 80 PVTGs in India.

3. Dongaria Khonds, Baiga, and Toda are part of
PVTGs.

Which of the above statements is/are Correct?

(a) 1and 2 only

(b) 2 and 3 only

(c) 1and 3 only

(d 1,2and 3

Recently which of the following tribes were
added to the Scheduled Tribes list?

1. Hatti tribe

2. Binjhia tribe

3. Narikoravan Hill tribe

4. Betta kuruba tribe

Choose the Correct Option from below :
() 1,2 and 3 only

(b) 2,3 and 4 only

(¢) 1,2 and 4 only

(d) 1,2,3and 4

Consider the following statements with respect

to Indian Races:

1. B. S Guha classified Indian Races into Six
Categories like Negroid, Mediterranean,
Proto-Australoid, Western Brachycephalic,
Nordic and Mongoloid.

2. The Pre-Dravidian race is another name for the
Proto-Australoid.

‘Which of the above statement/s is/are Correct?

(a) 1Only

(b) 2 Only

(c) Both 1and2

(d) Neither 1 nor 2

Consider the following statements:

1. Recently the Government has launched the
National gas grid to overcome the gas
imbalance in the country in line with the vision
of "One Nation, One Gas Grid".

2. Government plans to increase the share of
natural gas from the present 6% to 30% by
2030.

Which of the above statement/s is/are Correct?

() 1Only

(b) 2 Only

(c) Both 1and2

(d) None of the above

Q55. Which of the following pipeline network is the

largest in India?

(a) Naharkatia-Nunmati-Barauni Pipeline

(b) Hajira-Bijapur-Jagdishpur (HBJ) Gas Pipeline

(c¢) Jamnagar-Loni LPG Pipeline

(d) MumbaiHigh-Mumbai-Ankleshwar-Kayoli
Pipeline

Q56.

Q57.

Q58.

Q59.

Q60.

Arrange the following neighbouring countries of
India in ascending order with respect to boundary

length.

1. Bangladesh
2. China

3. Pakistan

4. Myanmar

Choose the correct sequence from below :
(a) 1-2-34
(b) 2-1-3-4
(0 3-2-14
(d) 2-3-4-1

Consider the following statements :
1. There are 15 Major Ports and 187 Minor Ports

in India.

2. Vadhavan port was recently added to the major
port of India.

3. Kandla port is the largest container port in
India.

‘Which of the above statements is/are Incorrect?
(a) 1and 2 only

(b) 2 and 3 only

(c) 1and 3 only

(d) 1,2 and 3

Consider the following statements with respect
to Indian Ports :

1. Cochin port is the oldest port in India.

2. Port Blair is the youngest port in India.

3. Tuticorin port is the Natural port of India.
Which of the above statements is/are not correct?
(a) 1and 2 only

(b) 1and 3 only

(c) 2and 3 only

(d) 1,2and 3
Match the following pairs :

Pass Connects
1. JelepLa : Sikkim and Tibet
2. DihangLa : Arunachal Pradesh and Tibet
3. NathuLa : Arunachal Pradesh and Tibet
4. BomDiLa : Sikkim and Tibet

Choose the correct option from below :
(a) Onlyl Pair

(b) Only 2 Pair

(c¢) Only 3 Pair

(d) All pairs

Consider the following statements :

1. There are four types of Rural settlement
patterns mainly compact, Semi compact,
hamleted and dispersed.

2. Availability of water and fertile plains resulted
in Compact settlement in Punjab, Haryana
region.

Which of the above Statement(s) is/are Correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) None of the above
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51.

52.

53.

54.

55.

WRd # fOIY ¥ § HAeR SHeIca I9gt (PVTGs)

& dey # Fefefed woet wR foar =

1. SR AN 7 AFYRAd SHSIGA! o A1y " ATfeH
SN Tg" & ¥U | Uk A5 A0t a9 @
e e, {98 ae 7 PVTG & =9 # STHT |

2. ¥Rd # g1 80 PVTG &1

3. EMRar @ig, 3 8k AT PVTG ot feeem &1

ST # & S 91/3 HyF 98t 8/8?

(@) 1 3R 2 Fad

(b) 2 3R 3 Fhaa

(c) dhae 1R 3

(d) 1,23R3

g gt # fr=fofea & @ fohg SHenfa &t sgfa

STt gt § Sier T 87

1. Bl S

2. fafemar sHenfa

3. ARIGREA UGSl S

4, ST PO SIS

= fow v foeredt & @ T8} ey &1 8= IS

(a) dae 1,2 3k 3

(b) dae 2,3 3R 4

(c) Faet1,23R4

(d) 1,2,33Rk4

YR STfaat & ey & fAm=fafad sy = AR

&

1. & @ e 3 9rdm Snfodt @ s,
diféa SR Amargs SHt @ Sfoml & afiga
forami

2. W-afde sifa diel-siRgerae &l @Rl 91 &l

IR & i 91/3 Y Tl 8/87?

(@) haa 1

(b) a2

(c) 13R2aHAt

(d) Fat13Rag2

fAafafaa syl ) faR &

1. B gl & PR 7 "gq M, a4 49 5" &
gfRehTur & ST 321 H 71 Tl ohl R A
forg It A9 fire a1 PRy fRaT 81

2. WHR &I AT 2030 Ik Uipfder 9 i
EER! adH 6% € g1 30% e i 8l

SWRiad | 9 i 91/8 Y- T8l 8/87?

(a) dad 1

(b) Fad 2

(c) 13R2aM

(d) s ¥ A ofr T

fffaf@a d @ & a1 urguesd Aead YR 8 g9
ES

(a) ATERRIETT-TAA -SRI UTSuwTS

(b) BSIIRT-SSTYR-SITEIIGR (Teefst) 4 urgueirs
(€) STHTR-AMT Tadish urguarsg—

56.

57.

58.

59.

60.

(d) G gTE-HaE-SichetyR-hrdiel! UTgUTE

T a1s & Jey § YRA & AEfafad usidt 2 &t

IRIE! o & TafAd hil

1. SRS

3. U™

42 @ 98 v T

(@) 1-2-3-4

(b) 2-1-3-4

(c) 3-2-1-4

(d) 2-3-4-1

fAafafaa sy R faR &2

1. 9RAH 15 W §eg 3R 187 BIE T8 8l

2. gUTeH SSE ohl BT 81 # YR & WE Je3Tg
g STsT T g

3. Fisal TG URA Pl I TSI =R FEITE 8|

IWied & 9 ohi I1/9 ha= ToAd 8/87?

(@) 1 3R 2 dhae

(b) 2 3R 3 dhaa

(c) haer 1 3R 3

(d) 1,231R3

YR semel & day § fAefafEa sl w faar

e

1. hIE SEAE HRd ol Jad YRMHT S&3Tg 8

2. TUl¢ &R YR &l 9aY 74T §&3T18 8

3. AIeRIRA SETE HRA I UThicieh &S 8

2. @4
4. ™AR

IWRIe el & G i I1/3 9l Tl 8/8?
(@) 18R 2 thaet
(b) haer 1 3R 3
(c) 2 3R 3 thad
(d) 1,283
f=fafea gmi « gafaa fifsre:
&= Sitgd 8
1. ST &1 : Rfeepm ofk fasaa
2. fegimman : SO UesT 3R fossd
3. g e  SRRUTTES H&eT 3R fosara
4. g e : Rfary ok fosaa
2 @ 98 faehea g4
(@) Faa 1S
(b) a2 S
(c) haet 3 St
(d) Foftsitg
fAafafed swaal o faar &

1. OR YR & IroT fdary ufaey g U ¥
e, 37 e, oI Mg 3R feR gy 8l

2. UHt R IUSIS  AGHl I Iudsdr
gRUTHEEY deTe, gRamn &7 & gu datea

§3ﬂ1
SWIaT | T ol 91/ hy= Tl 8/8?
(a) hae 1 (b) et 2
(c) 13MR2gHl (d) 378 O &Is off 78t
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Q6l.

Q62.

Q63.

Q64.

Q65.

With reference to Foreign Contribution
(Regulation) Amendment Rules, 2022, consider
the following statements:

1. Indians can now receive up to Rs. 10 lacks a
year from relatives staying abroad without
informing the authorities.

2. If the amount exceeds Rs. 10 lacks, the
individuals will now have 60 days to inform
the government.

Which of the statements given above is/are

correct?

(a) 1only

(b) 2 only

(c) Both 1and2

(d) Neither 1 nor 2

With reference to Model Tenancy Act, 2021,

consider the following statements:

1. The act aims to resolve disputes between
landlords and tenants by clearly delineating the
rights and obligations of landlords and tenants.

2. The timeline for the resolution of all the
disputes has been specified in the Model Act.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 2 only

(c) Both 1and 2

(d) Neither 1 nor 2

In the context of the Landlord Port model,

consider the following statements:

1. In this model, the publicly governed port
authority acts as a regulatory body, while
private companies carry out port operations.

2. Recently, Jawaharlal Nehru Port became the
first major port of the country to become a
100% Landlord port of India.

Which of the statements given above is/are not

correct?

(a) 1 only

(b) 2 only

(c) Both 1and2

(d) Neither 1 nor 2

India’s largest floating solar power project has
been commissioned in which the following
states?

(a) Kerala

(b) Gujarat

(c) Andhra Pradesh

(d) Telangana

With reference to PM SVANidhi Scheme,

consider the following statements:

1. The scheme helps formalize the activities of
Self-Help Groups and will open up new
opportunities for their economic upliftment.

2. Itis a Central Sector Scheme and fully funded
by the Ministry of Housing and Urban Affairs.

Which of the statements given above is/are

correct?

(@) 1only

Q66.

Q67.

Q68.

Q69.

(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

Consider the following parameters:

1. Economic Participation and Opportunity

2. Educational Attainment

3. Health and Survival

4. Political Empowerment

How many of the parameters given above are key
to benchmarking the current state and evolution of
gender parity in the context of the Global Gender
Gap Index?

(a) Two parameters only

(b) Three parameters only

(c) All four parameters

(d) One parameter only

With reference to National Family Planning

Summit 2022, consider the following statements:

1. The summit was organized to recognize the
achievements of various states/UTs in family
planning and create awareness about its
importance of it.

2. The India Family Planning 2030 vision
document introduced at this summit focuses
on teenage childbearing and the lack of male
participation in awareness programmes.

Which of the statements given above is/are

correct?

() 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

With reference to gene editing, consider the

following statements:

1. CRISPR-Cpfl and Cas9, both are gene-editing
tools and have two small RNAs.

2. Cpfl cuts DNA in a different manner than
Cas9.

Which of the statements given above is/are not

correct?

(a) 1 only

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor 2

The first malaria vaccine which is to be rolled out
in Africa, RTS, S - or Mosquirix, is developed by
which of the following vaccine manufacturers?
(a) Johnson & Johnson

(b) AstraZeneca

(c) Merck

(d) GlaxoSmithKline

AL

CALL: 0522-4623578
9911999187

www.maadhyamias.in
Lucknow Center - B-1/18, Sector-H, Puraniya Chauraha,
Near Mahalaxmi Sweets, Aliganj, Lucknow-06024 (U.P.)

Indian Geography and Environment | 15




61.

62.

63.

64.

65.

fasft siarem (faffamm) e Fem, 2022 & desf

7 fAfafed s w R fifeR:

1. YRAT 3@ ¥YY deh UTd &R Jahd gl foAT
3ifepTRal aht sy fager & g @ RdeRi T uep
greT # 10 ARG 30T dh o Johd gl

2. T afy 10 arg 3ud @ orfdes g1 Ot afermt &
UTY 39 TR i Jiad & & forg 60 & ar
oy ghm|

IR T g wmot A § B T/ 98 2/82

()aﬁ?ﬂ

(b)
(c) 1aﬁvzaﬁ=ﬁ
(d) a1 3Rag2

Atsd e Yare, 2021 & T A F=ferfad s &R

faR HifSa:

1. fffmm @ B SHieRl ofR fmeri &
3Rl R SfEl o we wu @ R’BT =6
gl

2. ooft fQaet & Tmym &t gug-dar a@tsa
sifafgm & ffafde fir g g1

IR feU U YAl § T i 1/ Tt /87

(a) haet 1

(b) haet 2

(c) 132+t

(d) 7at1sRa82

Asdre Uid Atsd & e & Fmfafad s w far

HfS:

1. 39 disdd ¥, grcie &4 I MAT §e3718
uifderzor Rame e & w0 & & & g,
STafes st hufaat dewmg dare aRdl 8|

2. B & H, Sagdrd Ag% Uid 9Rd &l 100%
AsArE U T aTeT S T Ugall W SeTg
I

IR T 70 et & B ar/ a8 78 8/8?

(a) dae 1

(b) ohaet 2

(c) 132+t

(d) Fat1eRad2

YRA hl JIG ISt A=t TR Foil uRater fopg I &
& I TE &2
(a) &t

(b) TR
() arrsru%su
(d)

digq @AY g & dedf # fafea s w
feR &ifSr:

66.

67.

68.

69.

1. Ig Jio1 Wd Ggrdl agi S afafafeat @t
3aTRes w0 37 § Heg drdl @ iR 3k snfde
I & U 3T Gleitil|

2. TE U halg & hl AT & 3R Ot avg & srard
3R e ATHEAT & HAT gRT fa< uifta g1

IWR f&U U YAl § T i T1/T TGt /87

(a) haet 1 (b) dharet 2

(c) 132 (dysat1eiRa82

f=ferfEa ardel &R fdar &3

1. onfefep wmfieRt ok sraeR

2. feres wfd

3. WA 3R IRSHfadr

4. oifaen sifdrenTRar

affyes Affep e Gahich & T A JR Ry 71y fham
Rrfier adam AT iR A Tumar & fJerg &
JTYR & foIg Agayuf 82

(a) haet 2

(b) et 3

(c) Teft4

(d) haret 1

TE gRaR R R g@e 2022 & Geof A

ffefEa syl &R faar SR

1. fRReR e 1SS uRaR Aate | fafds
sl /he AT uesn &t Iuafedal ot ugaEA
3R 39h Hgd & IR H SIFTschdl el et & foaw
foma T T

2. 39 fRRR g | uxr foear man Sfsar et
AT 2030 fas Sergfie fohsiR a=a Tar st
3R STTEehdl ShiichAl & oW HRTGRY hl el IR
hfed Bl

IR &0 U FYl & T i T1/T TGt /87

(a) a1

(b) a2

(c) 18R 2=

(d) a1 3RTE2

Sia ufefem & deof 4 fRefafRa suaf R R

HIST:

1. CRISPR-Cpf1 &R Cas9, aHi Sf+-dured
Ul § 3R 394 & B¢ RNAs &1

2. Cpf13gAY &t Cas9 & fa adich @ dredr g1

IR Ry Ty et A § A 9/ 98 8 8/87

(a) haet 1 (b) Fae 2

(c) 18R 2=t (dyssat1efiRag2

AARAT &1 ugenm & S enhieer, RTS, S- AT
AfegRed # g forar s g, Ffafea 7 @ e
Jofi Fafar grr o forar mar &2

(a) W94 Us ST+

b)@?ﬂw

(
(o)
(d) ﬁaaq’rﬁ&raaam
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Q70.

Q71.

Q72.

Q73.

With reference to the Amendment to the Flag

Code of India, consider the following statements:

1. It allows the national flag to be flown both
during the day and at night if it is displayed in
the open or the house of a member of the
public.

2. It also allows the manufacture and use of
machine-made and polyester National Flags.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 2 only

(c) Both 1and2

(d) Neither 1 nor 2

Consider the following statements with respect

to Ethanol blending:

1. An ethanol blend is a blended motor fuel
containing ethyl alcohol that is 100% pure,
derived from agricultural products, and
blended with petrol and diesel.

2. India achieved a 10% ethanol blending target
in petrol months ahead of schedule.

3. The Government of India has set the target for
20% ethanol blending in petrol (also called
E20) by 2030.

Which of the statements given above is/are

correct?

(@) land2

(b) 2 only

(c) 1and 3

(d) 3 only

Consider the following statements with respect

to Indian Virtual Herbarium (IVH)

1. IVH s a database of dried plants, it includes all
information about the herbarium specimen
such as family, genus, species etc. and their
digital images.

2. IVH is developed by the National Botanical
Research Institute.

Which of the statements given above is/are

correct?

() 1only

(b) 2 only

(c) Both 1and?2

(d) Neither 1 nor 2

Consider the following statements

1. In 2022, United Nations declared November
15 as a World Tribal Day, to commemorate
the contributions of tribal communities

2. The theme for World Tribal Day 2022 was
“The Role of Indigenous Women in the
Preservation and  Transmission of
Traditional Knowledge”.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 2 only

(c) Both 1and2

(d) Neither 1 nor 2

Q74.

Q7.

Q76

Q77.

With reference to Small Satellite Launch Vehicle,

Consider the following Statements:

1. A small Satellite Launch Vehicle (SSLV) is a
small-lift launch vehicle developed by ISRO

with a payload capacity to deliver 500 kg to low

Earth orbit

2. SSLV is the smallest vehicle at 110-ton mass at
ISRO.

3. A small Satellite Launch Vehicle (SSLV) is a
three-stage Launch Vehicle configured with
three Solid Propulsion Stages.

4. ISRO Successfully launched the first flight of
the SSLV carrying an Earth observation
satellite EOS-02 and a co-passenger students'
satellite AzaadiSAT

Which of the statements given above is/are

correct?

(a) 1,2 and 3 only

(b) 2,3and 4 only

(c) 1,2 and 4 only

(d) All are correct

Which of the following acts exclusively deals

with moonlighting in India?

(a) Information Technology Act, 2000

(b) Section 60 of The Factory Act of 1948

(c) Industrial Employment (Standing Orders) Act,
1946

(d) None of the above

Consider the following statements about Langya

Virus:

1) Langya is a Zoonotic Virus.

2) It belongs to the family of the virus found in
Bats like the Nipah.

3) Virus is classified under biosafety level 1 with
a high level of contamination.

Which of the statements given above is /are

correct?

(a) 1and 2 only

(b) 2 and 3 only

(¢) 1and 3 only

(d) 1,2 and 3.

Loksabha in August in August 2022 passed the

Indian Antarctic Bill 2022:

1) Bill Prohibits Indian expeditions to Antarctica
without a permit or written authorisation of
another party to the Antarctic Treaty.

2) For protecting the environment of the region,
the act directs the creation of a fund called the
Arcitic fund.

3) DakshinGangotri, Maitri and Bharati are the
Indian research stations in Antarctica.

Which of the statements given above is /are

correct?

(a) 1and 2 only

(b) 2 and 3 only

(c) 1and 3 only

(d) 1,2 and 3.
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70.

71.

72.

73.

YRAT st dfgar & deneq & deof 7 fmfafaa

FHYA R faR SIS

1. g AL @ R 3k 7 St F hgem &
rgefa 3aT 8 afe 58 go A a1 Sar & R A wefdd
e ST 81

2. g mf-Ffda ik difegeer Tty et & fAmfor
3R oz Y oft srgafa Ear 1

IR Ry g At A § o T/ 98 2/82

(a) Fad 1

(b) had 2

(c) 13fR2 =

(d) Fat1eiRag2

3Tt affgor & dey & AEfafed syl R fTar

&

1. AT A2or v AT AR Seq & o o
3ehiget giaT & it 100% G i1 8, St iy
IdTEl & UTd gidT 8, 3R Uit 3R SieTet & a1y
fafoa gar g1

2. 9Ra A RuiRaara d uga @t wgi=i 5 10%
YT IIASIUT Feg gTiel e foram|

3. YRd WHR 7 2030 T Ueta # 20% AT
gffgor (9 E20 oft &g Siar @) o1 o8y
fReiRa ferar 81

IR f&U U YAl § T i 91/ Iet /87

(@) 132

(b) Fast 2

(c) 13R3

(d) Fa<t 3

3fea aeareT geiian (SMsdigw) & ey H FAmfaifad

Y R faR &

1. SMEdgT g@ Uil o1 Ueh e &, 39 gaRaH
T S uRaR, SfiF9, uefd onfe ik 39!
fefSiea ofaat & TR § Toft SRt A 81

2. IEdUT ol AP gl STHY TRIE gRT
et ferar mar 81

IR U U AT F G i 91/9 Tot /87

(a) dad 1

(b) Faet 2

(c) 1 3fR2 el

(d) Fat1RAE2

faferfea eua R faar &

1. 2022 ¥, Gged g A snfeard et & aireE
F TG B & g 15 FdaR ol fagy enfeardh
g & wu § 9iftq fmar

2. fagy enfeardt fikag 2022 &t i “arulRes I &
TREUT 3R TR H el Afgerrsit & ogffenr”
off|

IWR Ry T Syl F T i 1/ Tl /87

(a) Fad 1

(b) Faet 2

(c) 1 3R 2=t

(d) At 1aiRag2

74.

75.

76.

77.

Y JuUE Ul I & Heof # FEfafea st )

faR HfSa:

1. Teh BIeT SUUE TETU I (TIUTerd) ST gRT
Al U Ster-3s™ arer vy o= g, gt
Oeite &mar gedt & fAaelt sarm # 500 fhettum™
deh Uga™ i g

2. THUHUAEt 3G # 110 & gegHq M arel] 9ad SieT
ag 8|

3. Ueh Biel IuUg U I (QHgHd) i TRl
Tl U&TOT I & STt 1 319 WOl T=oTl & ITey
T&fua gl

4. TE A gt srgetted Iuug EOS-02 3R dg-amt
BEI & ITUE SASEIGe bl o STH aret SSLV
Ugelt IS ol TheTdTydich il fohaT

IR Ry g et A § i a1/ 98 2/82

(@) das 1,2 3R 3

(b) dhaa 2,3 3R 4

() dhaa1,23R4

(d) aoftadt g

fF=fafaa & @ &4 a1 sfafay Oty v @ yra &

Tie § Tefda 82

(a) == drenfireht sifafame, 2000

(b) 1948 & thedt sifafram fit arT 60

(c) SifEnfie AsR (RIRR smeer) sifdfaaw, 1946

(d) T8 9 RIS +ft 781

AT aRRY & IR § AEfaf@d syl = AR &R

1) @1 Qe S arRd gl

2) Ig a1 S gwesSt ¥ Ui 9 aret iRy &
URaR 9 Tefdd g1

3) =T TR % HGNUT o 1Y IR i S1g RET TR
1 & dgd aifiehd fohar TaT 81

IR U MU Fyl & T -1/ TGot 8/87

(@) thaa 1 3R 2

(b) haa 2 3R 3

(c) Paa13R3

(d) 1,233

3T 2022 # SAlehgdT 4 YRAT 3ierhfes fadasw

2022 uiikq ferar;

1) faer sierdhfea TfY & forg fopeft o urdt & wfae
a1 fafRd wifde=or & foar sierdhfear # wrd
Srfoml &Y ufaefda @=ar g1

2) &7 & ggieRur &Y et & foiy, Tae snfdhfes s
A Ueh hiY o fAHT0T o fAer 3aT &1

3) efeyor s, A ofik WRdY sierhieant & WRdT
ST e &

IR 7 g et & § A-a1/2 98 2/82

(@) thaa 13k 2

(b) daa2 3k 3

(c) dhaa13iR3

(d) 1,233
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Q78.

Q79.

Q80.

Qsl.

Consider the following statements about Youth

in India report:

1) According to the report youth population in
India is expected to increase till the end of 21
st century.

2) It is released by the Ministry of statistics and
programme implementation.

3) Five South Indian states are projected to have
50% of the youth population.

Which of the statements given above is /are

correct?

(a) 1and 2 only

(b) 2 only

(c) 2and 3 only

(d 1,2 and 3.

Consider the following statements about the

Energy Conservation bill 2022:

1) Bureau of energy efficiency is a statutory
body under the Energy conservation act
2001.

2) Propose changes in the bill that will help
India in achieving the India climate goals.

Which of the statements given above is/are

incorrect?

(a) 1 only

(b) 2 only

(c) Both 1and2

(d) Neither 1 nor 2

Consider the following statements about the
Trans-Himalayan Multi-Dimensional
Connectivity Network :

1) Trans-Himalayan Multi-dimensional
Connectivity Network is a part of China
Pakistan economic corridor.

2) Under this china will develop projects in the
Bhutan territory making it landlocked to
land-linked.

Which of the statements given above is/are

incorrect?

() 1only

(b) 2 only

(c) Both 1and?2

(d) Neither 1 nor 2

‘Which of the following statements is/are correct

regarding the metallic resources of India?

1. The bulk of metallic minerals in India is found
in ancient crystalline rocks on the plateau of
the peninsula.

2. India possesses the world's largest manganese
ore reserves.

3. The best iron ore found in India is magnetite
iron ore with a metallic concentration between
50 and 60%.

4. (Odisha has over fifty per cent of the country's
copper ore, followed by Madhya Pradesh and
Jharkhand.

Select the correct answer using the code given

below:

(@) 1only

(b) 2 and 3 only

Q82.

Q83.

Q84.

Q85.

(c) 1,2 and 4 only
(d) 1,2 and 3 only

Consider the following statements about non-

metallic mineral resources in India:

1. India is not only the largest producer of mica
but also the largest exporter.

2. Andhra Pradesh is India's largest dolomite-
producing state, accounting for more than 30
per cent of the nation's total production.

3. Rajasthan is India's largest producer of
gypsum, followed by Tamil Nadu and Jammu
and Kashmir.

Which of the above statements is/are correct?

(a) 1and 2 only

(b) 2 and 3 only

(¢) 1and 3 only

(d) 1,2and 3

‘Which of the following claims about India's wind

energy resources may be regarded as

advantageous?

1. There is no emission of hazardous gases into
the environment.

2. The initial setup involves only a little
expenditure.

3. It is a method of generating revenue for local
communities.

Select the correct answer using the code given
below:

(a) 1and 2 only

(b) 1 and 3 only

(¢) 2 and 3 only

(d 1,2and 3

Consider the following statements:

1. The Indian government intends to achieve
energy independence before the centennial of
independence, or by 2047.

2. In India, solar prices have decreased from Rs.
7.36/kWh in FY15 to Rs. 2.45/kWh in July
2021.

3. The Indian government has postponed the goal
of blending 20% ethanol into gasoline by five
years, to 2035.

Which of the above statements is/are correct?

(a) 1and2 only

(b) 2 and 3 only

(¢) 1and 3 only

(d 1,2and 3

Which of the following are challenges for

industrial growth in India?

1. Inadequate Infrastructure and Manpower

2. Improved investment in Research
Development

3. Heavy reliance on foreign import

Select the correct answer using the code given

below:

(a) 1and 2 only

(b) 2 only

(c) 1and 3 only

(d 1,2and 3

and
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78.

79.

80.

81.

gy 3= gfean Rulé & R # Fefafed syl ® fer

&

1) Rl & AR 9Rd # gar sendt 21 9t & sid
Jh o i sEfig Bl

2) ug Tifead SR &rfehA shrafaga 3™ gRI
STRY fopar STraT 81

3) i gferor YR ITsat § 50% gar el g1 &l
A 81

IR T 70wyt § § -1/ 98 2/82

(a) dad 1 3R 2

(b) had 2

(c) Fadt2 3R 3

(d) 1,23R3

Tl TReuT fAees 2022 & IR & fafafad saai )

R &

1) it TRefor AfAfgw 2001 & dga Foil gerdr
& Yo Hifaferen epra g1

2) foe & seame uwarfad & ST YRd &t YRd &
STaTg &Y chl UTW et # HEE T

IR o U Syl F @ i I91/8 TeAd &/8?

(a) had 1

(b) a2

() 13R2

(d) a1 3iRa82

TIg-feaTer Aedl-STaHRMe dfaefdd) Aeadh & aR

# fA=fafaa syl «R iR &

1) cig-feuread Achl-SHFd ehefaefadt Aeach
i arfehear anfdfer HIRER &1 Uah e g1

2) 39 dgd A9 Y &5 A ulatsrret & faerd
&, S a8 A 4 1 gsi sl

IR o U Al F @ i I91/8 Ted g/87

(@) hae 1

(b) haa 2

(c) 1 3fR2 el

(d) Fat1eRAd2

YRd & Uifcer Gareq! & IR § Refafaa 4 9 =

1/d Sy a1 8/8?

1. 9Rd ¥ uifdes @S &1 981 W ugiu &
UoR WR U foheeetta agHl & U Sirar gl

2. ¥Rd & U gfaT o1 qad g9 AN 3r%h
JeSR 8|

3. YRd ¥ UET SH a1l JO9 ISl g 310%h
Aqerge g 3%k ¢ fS9d 50 @ 60% & o9
eTfeeh FigdT gt &1

4. 3ffem & &1 & did o 3k ol Uary ufdd 9
3T g, 3Th G He UGS 3R SIRWS Pl W
gl

12 feq 1Y e 1 TN R et SR gAY

(a) had 1

(b) 2 3R 3 dhaa

82.

83.

84.

85.

() dhad 1,234
(d) &ae 1,2 38R 3

uRd B srutfaes @iRs dareet & IR 7 fAefafaa

FHY R fIaR &

1. ¥Rd A Hhdd 3TYH T Ja8 8T IUGh § qlech
g g7 Frafde oft 81

2. 7Y URRT YR hl GaIY FST SIAHISE ITeh oY
&, ST 33T o el IaTG AT 30 Ufd=ra F 31fdeh o1
ITE Tl gl

3. IO URA & o9 &1 999 987 IS 8§,
59 J1E dfAeATg SR STH-hHR ol = 81

IR YA A @ HI9-T1/3 TE &/8?

(@) dhaa 13k 2

(b) FaeT 2 3R 3

(c) daeT 18R 3

(d) 1,233

YR & Ug JHelt Ga1g-l & IR § Fafafea d @ =

T ETaT ATYE HHT ST ehdT 87

1. UafeRO1 § WaRATh 191 ol IS Tl giaT gl

2. SIS YeaTd | chad JieT 91 @ A g1

3. Ig R Tl & iy o1 I e &l T
GNEAR]

12 f&Q 7Y e 1 T R Tt SR gRT

(a) dad 1 3R 2

(b) daa 1 3R 3

(c) a2 3k 3

(d) 1,233

fAafafaa sy &R faar &2

1. YRd 9RPR WdaAdT o LTdTeal a9 9 uget a1 2047
Jdh FoTT TIATdT YT e ol SRIST WadT gl

2. YRAE GRA HAIIA F FI S TS 51 FY15 5
7.36/kWh & %. S[a18 2021 & 2.45/kWhi

3. YRd WHR 7 20% 3T ! AG¥e= & A= &
&g Y Ui 9Tl o folT 2035 deh & folg aredt fear
gl

IR YAl A G hi9-T1/ I8l 8/8?

(@) 1 3R 2 hae

(b) 2 3R 3 haat

(c) daa13R3

(d) 1,233

fAafofea 3 @ o O wra & sienfies e & fog
Tt 82

1. Ui RIS afen 3R sHerfeRT

2. IEY™ iR foem # SRk faw

3. fodeft smard R 9kt AeRar

12 {3 77Q e 1 Tl AR et SR A

(@) 18R 2 Faat

(b) %aet 2

(c) thaa 13k 3

(d) 1,233
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Q86.

Which of the following statements about

Maharatna companies is/are correct?

1. Rural Electrification Corporation (REC) was
recently designated as a 'Maharatna' Central
Public Sector Company (CPSE).

2. A company is granted Maharatna status if it
has a net profit of more than Rs. 100 crores for
three consecutive years, an average annual
revenue of Rs. 5,000 crores for five years, or an
average yearly net value of Rs. 15,00 crore for
five years.

Select the correct answer using the code given

below:

(a) 1only

(b) 2 only

(c) Both 1and2

(d) Neither 1 nor 2

Q87. Which of the following statements is/are correct

Qs8.

Q89.

regarding road transportation in India?

1. India's road network is currently the largest in
the world, followed by China.

2. National highways comprise 2% of India's
entire road network and transport more than
40% of total traffic.

Select the correct answer using the code given

below:

(a) 1 only

(b) 2 only

(c) Both 1and2

(d) Neither 1 nor 2

Consider the following statements regarding the

rail network in India:

1. India's railway network is now the biggest in
Asia and the second largest in the world,
behind those of the United States.

2. Indian Railways completed the arch closure of
the under-construction Chenab Bridge, the
world's highest railway bridge, in April 2021.

Which of the statements given above is/are

incorrect?

(a) 1 only

(b) 2 only

(c) Both 1and?2

(d) Neither 1 nor 2

‘Which of the following statements regarding the

UDAN scheme in India is not correct?

(a) International UDAN is an extension of the
domestic UDAN scheme that aims to connect
India's smaller cities directly to some of the
region's most important overseas destinations.

(b) The government's UDAN initiative aims to
operationalize and develop 425 underserved or
unserved airports across the country.

(¢) In December 2019, the fourth phase of UDAN
was inaugurated, with a specific emphasis on
North-Eastern Regions, Hilly States, and
Islands.

(d) Cargo carriers get value Gap Financing under
the UDAN scheme.

Q90.

Consider the following statements:

1. India has 13 major ports, which handle over
90% of our external commerce.

2. The Sagarmala Project includes the
establishment of 7 coastal economic zones
(CEZs) and a special economic zone at Kandla
in Gujarat with manufacturing clusters to
facilitate port-led industrialization.

Which of the statements given above is/are

incorrect?

(a) 1 only

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor 2

Q91. Consider the following statements:

Q92.

Q93.

1. The Himalayan rivers have large basins and
catchment areas, whereas the peninsular rivers
have small basins and catchment areas.

2. The Himalayan rivers are an example of
consequent drainage whereas the peninsular
rivers are an example of antecedent drainage.

3. The Himalayan rivers are perennial whereas
peninsular rivers are not.

Which of the Statements given above is/are

correct?

() 1 only

(b) 2 and 3 only

(c¢) 1and 3 only

(d 1,2and 3

Consider the following statements regarding the
Multiple River Theory for the evolution of
Himalayan rivers:

1. It presumed that there was a large river called
Indo-Brahm or Shiwalik river.

2. It presumed that a large river got dismembered
due to upheavals in the western Himalayas
including the Potwar plateau.

Which of the Statements given above is/are

correct?

(a) 1 only

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor 2

Consider the following statements regarding the

Indus river system:

1. River Indus rises near Manasarovar lake.

2. Jhelum is the largest tributary of the river
Indus.

3. Suru and Shyok are the obsequent tributaries
of the river Indus.

Which of the Statements given above is/are

correct?

(a2) 1only

(b) 2 and 3 only

(c) 3 only

(d 1,2and 3
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86.

87.

88.

89.

HER hufal & IR § Refafaa 8 9 oiF ar/d s

gl 8/8?

1. urfior fogrdieRRor s\ (REC) ot g7 gt #
'HEReT g Traeiie &7 6 shu-t (CPSE)
& =g § T1fad forar mar )

2. U Ul &l HERT I goll 101 ST & Tfe STehT
G M T1 F ek gl dmaR i anf & forg
100 oIS ¥UT ohT 3Td a1ftfen IToTea| g T
& 77 5,000 e, T1 TG T A ATMNh UG
T

12 faQ 7Y e 1 v R FEt SR IR

(a) Fad 1

(b) Fast 2

(c) 13R2&had

(d) Fat13RaE2

YRd # s uRagd & d&y § F=faf@d d @

1/ Y4 Tat 8/87

1. YRd & S -cdeh aaq™ | gfHar & a9 a7
2, 395 q1E T T UM

2. TSN AN A YR % GYof T8 Aeah a1 2%
3R pel ATIT HT 40% & 3ifereh gRag mfae
gl

=2 7 77T g a1 v R et SR g

(a) Fad 1

(b) haad 2

(c) 1 3fR2 el

(d) a1 eiRag2

YRd H I Aeash & a9 § efeilRed syl R foar

&

1. YK I ARG & d1g HRd o Je7d Aedh 37d
gfrar F o g1 ofR gfFar & qur 999 Fe1 8|

2. WRAEE @ A o 2021 # AT & GO FI
era forar, fmtomels e fsist ot s g foRam

IR o U Al F @ 9 I91/8 Terd g/8?

(a) had 1

(b) haa 2

(c) 1 3R 2t

(d) Fat13RaTE2

YRA H ISH IIoHT & Jag J Ffafaa § 9 s ar

U T T8l 82

(a) SIRTER UDAN ®Re] UDAN TSI &l Ueh AR
& ST 32F 9IRd & B U6 Fl 87 & O
g8 Agayui fadef well & Wi site 1

(b) THR & UDAN Ugel &l @187 221 R & 425
JETE g7 IHUSE gals I7gl bl FdTeH iR
faepr g AT B

(c) f&deR 2019 &, UDAN o e =RUT &7 IgIed
2ot wR Ry SR far mam

(d) IgH TISHT & dgd AT aghl B deg, g
1 AT et 81

90.

91.

92.

93.

fA=fafEa syl &R faaR &2

1. WRA ¥ 13 UHE §SME &, St gAR 183} arforsy
T 90% T 31fdeh TTeTd &1

2. GIRATA uRASHT E 7 9 enffes & (didste)
T RITTAT 3R T[SRId & g § Yo [ arfefen
& M g, oo dewmg SR siemfiasor
&t i & fag fafafor e 81

IR fou U YAl # T i T@1/ Teid 8/87?

(a) Fad 1

(b) had 2

(c) 13R2a+t

(d) Fat1siRA2

fAafafaa sy R fdarR &2

1. feurerdt afeat & a8 IR ofR STewigor &7 §,
Safe urgd afeat | s e ok Sterugor
a7 gl

2. TRarerft afeat uRomft St sruaTg &1 Ues 3gT8Ror
& STafch UG Ut Afear gdadt stet fAeardt &1 gam
IR g1

3. fRamerht aftal areARh § Safe uragid afeat
Tl 8l

IR U U hYAl § T -1/ TGot 8/87

(a) Fad 1

(b) daa 2 3R 3

() dhaa13ik3

(d) 1,233

ferTerft Afeat & e & fog sg =& Rigia & ddy

# fA=forfEa vyl &R faeR &2

1. g "1 ST 8 b g8t-srg7 ar fRiarferes 9 e
U gt 7t ot

2. g gF forr man &6 oier uer gfgq ufgeh
fgarera & faads & PR U It 9 @iza g
TS|

IR 7 70 ol A § BH-a1/2 98 2/82

(a) hae 1

(b) had 2

(c) 138R2a+t

(d) Far 13RI 2

f&e] 7Y voTeft & Teiy F fFAfafEa wul R AR
GT#

1. Ry & AERIeR sfie & ure 9 Reverd! 1

2. Fom Ry 98 6 998 ISt ggraes T4l 81

3. g% 3R ies iy 7Y <l el dgraeh Afear &1
IR foU U hyAl § T Hi-a1/3 IGet 8/8?

(a) hae 1

(b) waer 2 3R 3

(c) a3

(d) 1,23R3
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Q94.

Q95.

Q9.

Q97.

Q98.

Which among the following statements is/are

correct regarding the Ganga river system?

1. The river Pindar rises from Nanda devi and
joins Alaknanda at Dev Prayag.

2. Madakini river meets Alaknanda at Karan
Prayag.

3. After Devaprayag Alaknanda is called Ganga.

Select the correct answer using the code given

below:

(a) 1 only

(b) 2 and 3 only

(c) 3 only

(d 1,2and 3

The Drainage area of the Brahmaputra river basin
does not cover which of the following state:

(a) Sikkim

(b) Arunachal Pradesh

(c) Manipur

(d) Meghalaya

Consider the following statements regarding the

Peninsular river system:

1. Narmada and Tapi river form estuaries.

2. Mahanadi and Godavari river form deltas.

3. These rivers often form meanders and shift
their beds.

4. These rivers are much more useful for
irrigation as compared to the Himalayan
rivers.

‘Which of the Statements given above is/are NOT

correct?

(a) 1and 2 only

(b) 2 and 3 only

(c) 3 and4 only

(d) 1, 3 and 4 only

Consider the following statements regarding the

Tapi river:

1. Itisthe second largest west-flowing river of the
peninsular India.

2. It rises from the western flank of the
Amarkantak plateau.

3. Betul and Purna are its important tributaries.

Which of the Statements given above is/are

correct?

(a) 1 only

(b) 2 and 3 only

(c) 1and 3 only

(d) 1,2and 3

‘Which of the following statements is/are correct

regarding Loktak Lake?

1. It is the largest freshwater lake in Northeast
India.

2. It consists of a floating national park.

Select the correct answer using the code given

below:

(a) 1 only

(b) 2 only

(c) Both 1and2

(d) Neither 1 nor 2

Q99. With reference to the Kodaikanal Lake, consider
the following statements:
1. Itis a natural lake.
2. Ttislocated in Tamil Nadu.
Which of the Statements given above is/are
correct?
(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

Q100.Which of the following statements is/are correct
regarding the Sambhar Lake?
1. Itis a major wetland located in Uttar Pradesh.
2. It is the largest inland freshwater lake in north

India.

Select the correct answer using the code given
below :
(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2
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94.

95.

96.

97.

98.

T 7Y TRl & dey | fAefefaa § @ aF ar/a

S el 8/8?

1. fUSR 7<) der &t I FAperdt & 3R <a yamT &
3reTeher § faet STt 81

2. &of vanT | Herfehet 9t sredhar O fAerdt g1

3. IUAT & §1G 3TcAch-=al bl ATH T g1

A1 f&Q 7Y e 1 v R Tt SR AT

(a) Fad 1

(b) Fat 2 3R 3

(c) dhada 3

(d) 1,23R3

SIETYA 4t IR 1 S sruarg & FEfafea 7 @
forg g § 8 81

(a) Rfarm

(b) IO U7

(c) #AfoIgR
(d) Herey

Ui 9 0 & g9y § Refaf@d s wR e

T

1. =Her 3R ardt 7 SaRAeHE ST 81

2. HgFE 3R Mereas) 7 ST STt 8

3. 3 9l urr: foad gardt § 3R SrueT et Seadt
gl

4, fEarerg 6 Afeat it o & & Afeat R & g
31fere Igaift &1

IR BT T Fu F @ 91/8 98 e 882

(@) a1 3R 2

(b) Faet 2 3R 3

(c) dad 3 R4

(d) a1, 3 3MR4

ardt 7 & gey § fFfaf@d dul ) fdar &

1. g U YR hl ufgyd i 3iR I8 ateft @<t
oY St 7

2. Ug 3MRched TSR o UigHt fhaR I Maherdt 81

3. g ok guif suht U@ Ggr At |

IR feU U YAl § T w9-T1/T I8t /8?7

(@) haa 1

(b) haer 2 3R 3

(c) dadt 18R 3

(d) 1,233

diepdeh 3fte & TR & fA=faf@a & @ o9 a1 sy g
g/ &

1. U8 YarR YR 6l o a3t A urht Fi sfiet &
2. ¥ Qo kT g1 A S Bl

12 f&Q 7Y e 1 T R FEt SR IR

(a) a1

(b) haet 2

(c) 13fR2eHl

(d) Fat13MRT82

929.

100.

FISEHTA 3l & deof & fFfafEd syl w R
Hfor:

1. Tg Uk UTepideh ofiel 81

2. Ig dffeTg # 9 81

IR 7 70 el A § BH-a1/2 98 2/82

(a) dad 1

(b) had 2

(c) 13R2at

(d) Fat1siRAg2

giwR 3t & d9y & R=afafaa § @ o= a1/9 ouq

g1 8/8?

1. T8 IR MR H AU Uep v Sy &1

2. g IR URd Hl a9 gt 3idesia #S urt fr
e 81

2 3 77T e 1 vk R e W gAY

(a) Fad 1

(b) Fad2

(c) 138R2a+t

(d) Fat1siRag2
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